Solution

First, calculate the second moment of area about the neutral axis:
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2720 x 75 x 10°3
1.406 x 105

= 3.84 x 10® Nm~2

maximum stress = 3.84 MN m—2

Since both edges are equal distances from the neutral axis, then the bottom
edge will have a tensile stress of 3.84 MN m= and the top edge will have a
compressive stress of 3.84 MN m~2. Hence, the stress in the beam varies
uniformly across the section from 3.84 MN m™ (compressive) at the top to
3.84 MN m~ (tensile) at the bottom. This variation is often represented in the
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